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=) UPCOMING ONLINE BATCHES

05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

05 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org

October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

N 7052477777/7052577777
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Q:-1. A train 270 metres long is running at a speed of 36 km per hour

then it will cross a bridge of length 180 metres in :

270 WYX et Tk YTeRTIET el 36 Tordt Ui deT &ht <met | <reTd 3¢ 180 Hiex
S Tt Tl TR A | feha A1 |0 T2
(a)40 sec
(b)45 sec
(¢)50 sec
(d)35 sec




Q:-1. A train 270 metres long is running at a speed of 36 km per hour

then it will cross a bridge of length 180 metres in :

270 WYX et Tk YTeRTIET el 36 Tordt Ui deT &ht <met | <reTd 3¢ 180 Hiex
e IeT Shl IR ¥ | Toha =T 0T e
(a)40 sec

(¢)50 sec
(d)35 sec
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Q:-2. A train is moving at a speed of 132km/hour. If the length of the

train is 110 metres, how long will it take to cross a rail way platform 165

metres long?

Teh 110 Y, T Yot ST 132 feRHi/8er 6l aret 9 =iet W& 21 S Ueh 165
HY, Tl UeT Sl UR A | Tehd =T 0T e ?

(a) 5 sec

(b) 7.5 sec

(¢) 10 sec

(d) 15 sec
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Q:-2. A train is moving at a speed of 132km/hour. If the length of the

train is 110 metres, how long will it take to cross a rail way platform 165

metres long?

Teh 110 Y, T Yot ST 132 feRHi/8er 6l aret 9 =iet W& 21 S Ueh 165
HY, Tl Yol sl IR h{A § Teha =T a9 o1 ?
(a) 5 sec

(¢) 10 sec
(d) 15 sec




Q:-3. A train crosses a platform in 30 seconds travelling with a speed of
60 km/h. If the length of the train be 200 metres, then the length (in

metres) of the platform is

Tk 200 Hie et {E, 60 TorHl/ TUer &t =ITel & oIeTd §T TIehTH i 30
YhRUE H TR T oIl 21 TATE TACHTH hi eaTe (HTo H) T BT 2

(a) 400

(b) 300

(c) 200

(d) 500
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Q:-3. A train crosses a platform in 30 seconds travelling with a speed of

60 km/h. If the length of the train be 200 metres, then the length (in

metres) of the platform is

T 200 HieX Tt WRTIEY, 60 ferHt/ TUet &t arel & Teld U WiThHTH il 30
URUE W U T AT 2| TATE TISHTH <hl eiaTs (HTo H) ST g 2
(a) 400

(¢) 200
(d) 500




Q:-4. A train, with a uniform speed, crosses a platform, 162 metre long,

in 18 seconds and another platform, 120metre long, in 15 seconds. The

speed of the train is

T YeRTIE! Ueh THT STl | TeTd 8¢ Ueh 162 H, Tl Ueh TieWhiH ohl 18 1.
qUT 120 HY. T TWEHTH <kl 15 UhUS H TR HId! 21 TNTST shl =Tet AT

it

(a) 14km/hr
(b) 42km/hr
(¢) 50.4 km/hr
(d) 67.2 km/hr




Q:-4. A train, with a uniform speed, crosses a platform, 162 metre long,

in 18 seconds and another platform, 120metre long, in 15 seconds. The

speed of the train is

Tk YeRTIET Ueh THT STl | TeTd 3¢ Ueh 162 H. Tl Ueh TieWhiH ol 18 1.
qAT 120 HY. T TWEHTH <kl 15 UhUS H TR Hid! 21 TNTST hl =Tet AT

ALY
(a) 14km/hr
(b) 42km/hr

(d) 67.2 km/hr




Q:-5. A train covers a distance of 10 km in 12 minutes. If its speed is
decreased by Skm/hr, the time taken by it to cover the same distance will
be:

Ueh YerTTET 10 Toreft, 1 g 12 Tiere & oo et 21 afe 3eht =Imet 5
foreil/deT ow ot & A 3E g Rt A ot | fora T wwe i Hif

(a) 10 min

(b) 13 min 20 sec

(¢) 13 min

(d) 11 min 20 sec




Q:-5. A train covers a distance of 10 km in 12 minutes. If its speed is

decreased by Skm/hr, the time taken by it to cover the same distance will

be:
Ueh YerTTET 10 Toreft, <t it 12 Tiere & a2 et 21 afe 3eht =Imet 5
TeRH1/EieT ST Rt 2 A1 SET it ohl T hid W ToTaT T2 T AT shi o)

(a) 10 min

(¢) 13 min
(d) 11 min 20 sec




Q:-6. A train leaves a station A at 7 am and reaches another station B at

11 am. Another train leaves B at 8 am and reaches A at 11.30 am. The

two trains cross one another at
Teh YOTTTST €9 A" & UTA: 7 S T TR Sldl & T0T T ¥ 'B' W
11 : 00 SISt UZe SATAT & | TAE AIEY, T 'B! & UT: 8 T ST TREH

Tk, T A" T AT 11: 30 I S SATAT g1 TATSY ST SeRTISAT fehad
T Teh O ohl U |

(a) 8:36 am

(b) 8:56 am

(¢) 9:00 am

(d) 9:24 am




Q:-7. The speed of train A is 25km / h more than the speed of train B. A
takes 4 hours less time to travel a distance fo 300 km that what train B
takes to travel 250 km. What is the speed (in km/ h) of A?

& A S 7T ¢ B ot 7T & 25 Tordt / wiet atferen 81 A @t 300 foreft i @
T A H 4 e HH THT 1A &, o B o0t 250 Toreft o amsm e # foramn

T TATAT 81 A <Ry Tier (Femwi/eieT ) s/t 22
(a) 60
(b) 50
(c) 65
(d) 55




Q:-7. The speed of train A is 25km / h more than the speed of train B. A

takes 4 hours less time to travel a distance fo 300 km that what train B

takes to travel 250 km. What is the speed (in km/ h) of A?
¢ A <RI TTTd ¢ B hT 7T & 25 TehtT / et 21fereh 21 A shi 300 TehHT <t it

T A H 4 e HH THT 1A &, o B o0t 250 Toreft o amsm e # foramn

T TATAT 81 A <Ry Tier (Femwi/eieT ) s/t 22
(a) 60

(c) 65
(d) 55




Q:-8. A 150 meter long train crosses a platform in 45sec and crosses a

pole in 9 sec. Find the length of platform?

3&T: 150 WieX Talt S 45 Vehe H Ueh WiehH IR hidl § 3 9 Uehe H Ueh
et U ST 2l THASURTH Thl iaTg AT ShiTer?

(a) 400

(b) 500

(c) 600

(d) 550
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Q:-8. A 150 meter long train crosses a platform in 45sec and crosses a

pole in 9 sec. Find the length of platform?

3&T: 150 WieX Talt S 45 Vehe H Ueh WiehH IR hidl § 3 9 Uehe H Ueh
et U ST 2l THASURTH Thl iaTg AT ShiTer?

(a) 400

(b) 500

(d) 550




Q:-9. A train crosses 100 meter long platform in 45 sec and crosses a pole
in 27 sec. Find the length of the train?

IET: Ueh ¢ 45 Tehg W 100 HIeT SiaT THethiH IR shidl 8 3T 27 Uche W Teh
et T TR T B 3 B otaTd W B

(a) 150
(b) 90

(c) 100
(d) 125




Q:-9. A train crosses 100 meter long platform in 45 sec and crosses a pole

in 27 sec. Find the length of the train?
3&T: Ueh ¢ 45 Uehe | 100 HeX T TIeth T IR hidl § 37X 27 Uehe W Teh

T ST U ST 81 ¢ ST THaTS T hiford?

(b) 90
(c) 100
(d) 125




Q:-10. A train of length 150 meter takes 10 second to cross another train

100 meter long coming from the opposite direction. If the speed of the

first train is 30 km/h . Find the speed of second train?

3ET: Teh 150 HieT T &ars aret o foradia faom & o1 areft 100 Hiex wet
TEL &7 T UR A o6 1T 10 Behs TG &) AT Uget ¢ ot =mer 30 feret
/ §eT | O ¢ hT =TT A hITTA?

(2) 60 km/h
(b) 50 km/h
(¢) 45 km/h
(d) 90 km /h




km/h completely cross each other in 1 minute. If the length of the first

train is 125 meter. Find the length of the second the second train?

3eT: 40 fertivereT 3T 22 Tertft/EeT W ush & ey A A A aret ar e 1
o o Ot o W Uk SE T IR LT B Al TEell 7 T Sars 125 Wiet ?)
O TS <hl TS AT hiterar?

(2) 150 m
(b) 120 m
(¢) 200 m
(d) 175 m




km/h completely cross each other in 1 minute. If the length of the first
train is 125 meter. Find the length of the second the second train?

3aT: 40 ToRwi/eieT 3R 22 Tohwit/sieT R Ueh &1 9T H AT ot et a1 ¢ 1
o o Ot o W Uk SE T IR LT B Al TEell 7 T Sars 125 Wiet ?)
O TS <hl TS AT hiterar?

(2) 150 m
(b) 120 m
(¢) 200 m







